I. A 900-kg car is traveling at 15 m/s on a horizontal wet road. The brakes are applied and the
car skids 315 and stops in 5.0 5. The coefficient of kinetic friction between the tires and road is:
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2. A block of mass m is pulled a ong a frictionless horizontal surface by an applied force T as
shown. Take jto be in the upwards direction.
The force exerted by the block on the horizontal surface (el o i L i 3 ) fs:
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3. A 20-kg crate 3s2ia is sliding down an incline that is 40° above the horizontal. Ifthe
coefiicient of kinetic friction is 0.30, the acceleration of the crate is: j
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4. The position of a particle of mass 0.04 kg is given by? = —5.0t*1 + 3.03] where 7 isin
meters and t is in seconds. The net work done on this particle from t = 0 to t = 1s is given by:
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5. The drag force on a bifs traveling at 72 kmvh is 2200 N. If the area of the front 4eal s of the bus
is 10 m? and the density of the air is 1.2 kg/m? , then the drag coefficient C for the bus is:
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6. Block A, with a mass of 10 kg, rests on a 35° incline. The coefficient of kinetic friction is
0.20. The attached string is parallel to the incline and passes over a massless, frictionless pulley
at the top. Block B, with a mass of 9.0 kg, is attached to the dangling end of the string. The

acceleration of B is:
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7. A 4 kg crate (353 is initially at rest on a frictionless horizontal surface. A horizontal 20 N

force acts on the crate starting at t=0. The instantaneous power of this force at t =3 s is: —
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8. A car moves on a herizontal road in a circle of radius 40 m. The coefficient of static friction
between tires and road is 0.50. The maximum speed with which this car can round this curve is:
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9. The potential energy of a 0.40 kg partxcle moving along the x axis is given by
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where x is the position of the particle. If the particie has a speed of 5.0 m/s when it is at x= 1.0
m, its speed when it is at the origin is:
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10. An iron ball of mass 0.040 kg is being swung in a vertical circle Ll 340 at the end of &
string b2 of length 0.92 m. What is the minimum speed 4= _w 8 of the ball at its top position
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11. A projectile of mass 0.50 kg md from gr level Lia_¥ & sivs with an initial speed of
10 m/s at an angle of 45° above the horizontal. Take the potential energy to be 0 at ground level,
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The potential energy of the projectile at its highegt point is: - e
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12. The pendulum J 3w ball is held at 0.5 m above its lowest position. In that position it is
pushed and given an initial speed of 2.0 m/s. The speed of the ball at its lowest position is:
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13. A crate 3sxia of mass 5.0 kg is at rest on a rough horizontal floor. A 17 N horizontal force
is then applied to it. Ifthe coefficients of friction are u , = 0.40 and 4 & = 0.30, the magnitude of
the frictional force on the crate is:
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14. A 15-N horizontal force is applied to a 4.0 kg block initially at rest on a rough horizontal
surface. If the coefficients of friction are 1, = 0.33 and x + = 0.26, the magnitude of the frictional

g

ce on the block is:
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15. A 900-kg car is traveling at 15 m/s along a horizontal road when the brakes are applied. The
car stops in 5.0 s. The change in its kinetic energy is: oy
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16. A block of mass m is pulled at constant velocity in the positive x-direction along a rough

horizontal surface by a force 7 as shown. The frictional force is:
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17. Which of the following is NOT true for a conservative force acting on an object?

Trink. it does zero net work as the object moves over a closeipath. r o
it cannot do any work €T hay el Tyud_, A Cons @ ?’WM' { T
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18. A man needs a force of 10 N to hold an ideal spring with a 1000-N/m spring constant in
compression (Laiuale yailt Sul), The potential energy stored in the spring is:
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